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v There are 6 people on r‘ed g
Table 3 ongreen, and 4 on
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Y blue There are 15 people |
altogether? p
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There were 15 bISCUI'l'S m
li,,, the packet. Tate 5 of |
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them after lunch. There |,
v “were 11 left. b
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A Teacher' has 15 s‘rucker's

. She gives out 3. She has

0
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10 lef‘r .
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I shar'e 8 swee’rs equally
\'l between my 2 friends. /;if\
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/ Theyhave 5each.
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v I have 10 swee’rs I glve 3 R
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,  tomy friend. I have 6 (‘\
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Sally is 15 and Damel is 7

' The difference between
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their ages is 8
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Ther'e were 12 people on i
‘rhe bus. 4 people got off
', There were 8 left on ’rhe i
v bus. !
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Ther'e are 22 chuldr'en in i
purple class. On Monday
- 3 children were absent. ,;i’\
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Ther'e wer'e 19 m school
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Ther'e are 12 chocola’res
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", in a box. I ate 6 of them.
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There are 6 left. i
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5 kl‘r‘rens are ina baskeT
2 jump out. There are 4

\l/ /|\

left in the baske‘r i
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